Date

Time

. Write each number in exponential

notation.

a. 4x4%4=

b. 5%¥5%x5*%5 =

e. 9#9*x9%x0=

g. 7*%x7 =

=8 2H2%x2%x2%x2 =

2. Estimate. 589 * 714

a. Write a number sentence:

b. How | estimated.

vy
3. Add. ﬁSubtract.
Ko X2
a. 632 k. 3,341 Aa 1,924 . 1 ,493
+ 859 + 799 — 385 — 208
5. Solve. . Tim flipped a coin 10 times. It landed heads
up 7 times and tails up 3 times. Tim said,
a. 12807 b. 30685 “PIi flip it 4 more ti to get the same
_85.95 + 216.96 ip it 4 more times to g

number of heads and tails.” Is he right?
Explain why or why not.




